
SJN-313/10 (  1  ) [P.T.O.]

Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mRrj nhft;sA izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Unit-I / bdkbZ&I

1. What is meant by primary data ? Explain in brief the

various method to collect them. [15]
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izkFkfed leadks ls D;k vk'k; gS \ muds ladyu dh fofHkUu

fof/k;ksa dk la{ksi esa o.kZu dhft,A

Or / vFkok

Find arithmetic mean, median and mode from the

following data :

fuEu vkadM+ks ls ek/;] ekf/;dk rFkk cgqyd Kkr dhft, %

Marks more than 

¼vad ls vf/kd½ 15 20 25 30 35 40 45

Number ¼la[;k½ 40 37 31 23 13 6 0

Unit-II / bdkbZ&II

2. Calculate the standard deviation and its coefficient of the

following series : [15]

fuEu lkj.kh ls izeki fopyu rFkk bldk xq.kkad Kkr dhft, %

Marks more than ¼vad 
ls vf/kd½

0 10 20 30 40 50 60 70

Number of students 

¼Nk=ksa dh la[;k½ 100 90 75 50 20 10 5 0

Or / vFkok
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Calculate Karl Pearson's coefficient of skewness from

the following data :

fuEufyf[kr vkadM+ksa ls dkyZ fi;lZu dk fo"kerk xq.kkad Kkr

dhft, %

Marks ¼vad½ 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Number ¼la[;k½ 10 12 18 25 16 14 5

Unit-III / bdkbZ&III

3. Find the correlation between the income and expenditure

of a wage-earner of 8 months on piece-rate, system

working in a factory : [15]

fdlh QSDVjh esa izfr oLrq dh nj ls vtZu djus okys Jfed dh

8 eghuksa dh vk; vkSj O;; ds chp lglEcU/k Kkr dhft, %

Income ¼vk;½ 46 54 56 56 58 60 62 66

Expenses ¼O;;½ 36 40 44 54 42 58 54 58

Or / vFkok

Calculate the regression coefficient, correlation coefficient

and the two regression lines from the following data :

fuEu vkadM+ksa ls izrhixeu xq.kkad] lglEcU/k xq.kkad rFkk nksuksa

[P.T.O.]
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izrhixeu js[kk,¡ ifjdfyr dhft, %

x : 1 2 3 4 5

y : 2 5 3 8 7

Unit-IV / bdkbZ&IV

4. From the fixed base index numbers given below. Prepare

chain base index numbers : [15]

fLFkj vk/kkj funsZ'kkad tks uhps fn;s gSa ls J`a[kyk vk/kkj funsZ'kkad

Kkr dhft, %

Year ¼o"kZ½ 1990 1991 1992 1993 1994 1995

Index No. ¼funsZ'kkad½ 200 220 240 250 280 300

Or / vFkok

Fit a straight line trend to the following data by the method

of least squares taking (i) 1999 as origin and (ii) 2002 as

origin estimate the trend value for 2005 :

fuEu leadks dks U;wure oxZ jhfr }kjk ljy js[kk miufr iznku

dhft, % (i) 1999 dks mn~xe o"kZ ekudj rFkk (ii) 2002 dks ewy

fcUnq ekudj lu~ 2005 ds fy, miufr ewY; dk vuqeku

yxkb, %
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Year ¼o"kZ½ 2000 2001 2002 2003 2004

Production ¼mRiknu½ 
( Lakh) ¼yk[k ½

45 56 78 46 75

Unit-V / bdkbZ&V

5. Discuss the important theories of business forecasting.

How does analysis of time-series help in forecasting of

economic events ? [15]

O;olkf;d iwokZuqeku ds eq[; fl)kUrksa dks crkb,A dky&Js.kh

dk fo'ys"k.k vkfFkZd ?kVukvksa ds iwokZuqeku esa dSls lgk;d gksrk

gS \

Or / vFkok

(a) What is the probability that a digit selected at

random from the logarithm table is (i) 3 (ii) 4 or

8 ?

y?kqx.kd lkj.kh esa ls ,d vad ;kn`fPNd :i ls pquk

tkrk gSA bl ckr dh D;k izkf;drk gS fd (i) ;g 3

gksxk (ii) ;g 4 ;k 8 gksxk \

[P.T.O.]
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(b) A bag contains 14 balls of which 6 are red, 3 yellow

and 5 black. 3 balls are drawn successively

without replacement. What is the probability that

they are drawn in order red, yellow, black ?

,d FkSys esa 14 xsansa gSa ftuesa 6 yky] 3 ihyh rFkk

5 dkyh gSaA fcuk izfrLFkkiu ds 3 xsansa ,d ds ckn ,d

fudkyh tkrh gSaA bldh D;k izkf;drk gS fd os yky]

ihyh rFkk dkyh bl Øe esa gksxh \

----x----


